NUMBERS 1 TO 100
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ENCERRAR EL NUMERO CORRECTO

25 = FIFTEEN THIRTY FIVE “TWENTY FIVE

S = FORTY FIVE FIFTY FIVE FOURTEEN

57 = FIFTY SEVEN SIXTY SEVEN EIGHTY SEVEN
98 => EIGHTY EIGHT NINETY EIGHT {FIFTY EIGHT

100=>» TEN ONE HUNDRED TWENTY
16 = SIXTEEN SIXTY TWENTY SIX
35 — THIRTEEN THIRTY THIRTY FIVE

S6 = FIFTY FIFTY SIX TWENTY SIX

71 — SEVENTY ONE SEVENTEEN SEVENTY J
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| ENCIERRA LA OPCION

L
| CORRECTA 2
il THREE + FOUR - 4 5] = [ :
| FIFTEEN + THREE 12 18 23 19 |
TEN + TWENTY NINE 33 29 18 32 I

I TWELVE — FOUR = =] 13 10
THIRTY THREE + EIGHTEEN| 57 L] G5 s | I
SEVENTEERN + SEVENTEEMN | 34 31 62 b = I
THREE X NINE e o1 =7 12 |
FORTY MNINE — FOURTEENMN S 35 2.6 L I
llFiF~~ - vweNTY FOouRr 25 25 26 = | |
7 HirTY ONE + S1x S6 37 38 = l
IISIX + THREE + SEVENTEEN | 2¢ 25 26 27 |
I[SIMTEEN + EIGHT + TEN 26 ¥ 36 «3 |
JlForTY TWO + EIGHTEEN QO *S 55 a0 |
| TwWENTY + THREE 272 22 23 26 |
| FORTY SIX - ELEVEN = 35 S5 =8 |
l THIRTEEN + EIGHTEEN 2.'? L s T | e I
| TWENTY FIVE + THIRTEEN | ¥5 2 38 37 |
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